R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, FL-15213.6

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

i

Rustic / Mahogany
Series Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Humicane Zone" (HVHI).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind bormne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E1996 and Section 1609.1.2.4 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

37.50" MAX,
FRAME WIDTH

74.00" MAX. O.A. FRAME WIDTH

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures, & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

Asiragal details

Lol B f e 0 (L0 I B B ]

Bill of materials & components

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.37" MAX. OVERALL FRAME HEIGHT - OUTSWING

INSWING

74.00" x 82.00"

OUTSWING

74.00" x 80.37"

+50.0

8 2 2
B Sm 3
gn Ep N
£ .n P\
LI
qu_uz\b}
2R 5 Su
Sgegs Yo
R g
T33Pk
god o2y E
Eggz‘si ]
Z2my ;
845 50N
Emnln.mag S
= 3 5
A
E@ Eo
=1
[+ ]
8
(75]
=
1S
hmJZ
S -
(2)8 =L
oul.. 2&
2
<ElE 2o
oo Fa
i [ 83
3] e )
= o%u)
3 i &
o
& &
>
m
[¥p] |
=
(]
=
o
=
<
o
O
=
oATE: 02/16/12
SCALE: N.T.S.
DWG, BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.6
SHEET _1 oOF _8

© 2012 R.W. BUILDING CONSULTANTS INGC.



COM BANVLITNBNOS DNIGTHRE WY 108 §

BOPTH ON T'd GPNMUDS 4 UOPUA] SMNOISIAZY
2z g7y STVAIA TaNVd ¥00d Ad A4 _LONIY o lo| Q]
£198 "onN udibIuouINy O SIDOMISY ; NS B
BIPOUIBUT |DUOIBESICIL JO PJIOOT DPLISIY IENEASSY MO Jadved Mm b o 0 &
LELSTEERELE TON BUSUd HOOO SSYTIOMIE Ww Z g o 2M
S8ETE "ld OOMIDA OFZ %08 "0'd \w\wg SN OLSY I oy E g !
ONI SINVLINSNOD OMIAENE . i m 2N i ki
Mg pelsdedd BuswnDog LLANGA0H & m & W &
o
O
ree i
o e
b =
L b
a
S S &
N S
L
; » =
) O 5
2 o)
= £ |
5 5
= :wmow e b MU w o
8 « Mle X = ¥
&) | 2 L5 L GO
£ | 7 =
= m AR N MW
S St W=
» G - lw ==
= ot
- i = 13 DRI
& . ® :

BEINEGRCEMENT WOOD

e 250" ]

z
o 5
®
: T ol o=
m A\ W O
i 0 o=
i L = el O e
M fwﬂ a m ' =]
Q .| =% 5
- L & |- le Wm
- i w T mﬁw%
L e | 4 ¥ =
X He ® ®
NS o (@
L &

— ]

35.75" MAX
DOOR
PANEL WIDTH
E

@;@m@ PANEL
A

e

(e IHOEH TEANYd JO00 XYW T4, ——=

97 ‘BMpg-TETZST-1\OTOZ\SBUMRIG DAMY "G\L8ST 4d\009T - TOST ford\ssapiod 1080 d\s1o8f0sd - YAy



RVA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-8.dwg, 3.6

P

1-1/4" MIN.
EAB. (TYR.)

\\/\

] e (CSINK

Y INTERIOR

/"\\ HORIZONTAL CROSS SECTION

T

INTERIOR

1-1/4" MIM.
EAMB. [TYR.}

(50)

-

EXTERIOR

EXTERIOR

‘\_/J Cutswing shown - inswing
aiso approved

/"2 \ HORIZONTAL CROSS SECTION

NCA

Ulswing shown - inswing

Isa cpproved

/A HORIZONTAL CROSS SECTION

\3 _/ Shown w/1X sub-buck

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

/3 "\ HORIZONTAL CROSS SECTION

LTz

K\y Outswing shown - Inswing
abo opproved

i3 o &
2 £, 18
o) o 7 <
¢® E= b
2 'mw L
S .
p@uw . | 4
gh5 .4 |2
- B RO i .
£82a C uf
Pl sy T g
S g® BE ¥ L
e L I . T
" - +5
Zom 58 ey
;‘On L E
& ood oy O £
& LS.z &
v S 8Z 64 #h
Eamﬁuu— ™
s I~ Y ]
(3,-000 -
E:ﬁ-.ﬁﬂg &
& Bod oy i
o & £
L ggt 3
| =
5 L g
1%L
=
&
&
&5
[72]
=
)
5
i
S @
L
gcﬁ 0y
=37 B
az s i
! o
norE
5%&1},{
Lk €0 [ Mo
L =
. L [
5 gl o
3 ©l =
fam]
g g7
o o
S
jaa)
L
=
o
24
£
bt
<%
3
<
=
bavE: 02/16,/12
scalE:  NUTS,
DG, By JK
CHIE. By LFS
DREEING HO.
Fi—-i5213.6

SHEEY 2 oF 8

O BOTE RW. BULDING CONGULTANTS IMS,



TN SALNYATRBMNGD BMNIGTINE TWH BI108 O

SOPTF "ON ‘T'd IPHMUDS "4 UBPUL] SNOISIAIY
S s =74 SNOLDIS SSONT TYILMIA Ad QO dlol 2o
186 "ON “UCHDILOINY JO SIDONILD . et gl 8 L B
zieouiBuy IDULISSSLOLY JO PIDOE DPLOLY SNTENDASEY HO Ldvd ol Ry YRR
LBLEBSD'CLE ON BUOYS H00d SSy1oM3ald W.w. = g mm 4_
SBECET "4 OOLDA O Xod 'O'd \SU@ ONI QYdISY T S 1B E g |
ONE SINVIINSNOD ONITHNE . i 51w 1B o &
A peaDdild SIUOLLNSOY SEONQ0MA 5 M M 5 W &
{'dAL} -aw3
WNIW -
~ (=)
97 "

c e

INTERIOR

INTERIOR
&)
(Y

_

W Shown wilX sub-buck

”

EXTERIOR

7 A\ VERTICAL CBOSS SECTION

W Inswing configuration

4
EXTERIOR
/"2 "\ VERTICAL CROSS SECTION

[dAd) aws
NI B 1

("did) aws
NIW /1]

dAd) gwa

NIW.F/1-1
@

{*dAd)
~— NSO

INTERIOR
INTERIOR

also approved

7“3\ VERTICAL CROSS SECTION
W Cutswing configurotion

\\ﬁ/’ Qutswing shown - inswing

71\ VERTICAL CROSS SECTION

EXTERIOR
®

EXTERIOR

9y ‘DMPE-TE1ZST-1\TOZ\SBUIMRIQ DGMY "QALBST 4dN\009T - TOST foud\siapiod 199(0id\s1efoud - YAy



TYP. HEAD & JAMBS

)

r—

16" MAX.
OM CENTER

71.94"

S

2X
|
BUC%"\ _ ASTRAGAL |
SHOWN FOR I
REFERENCE i
MASONRY ONLY I
OPENING / I
Al I
5 u
I
-’61‘ iy H
: a«m’ LAl A s é-:\\\ ”
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

HINGE JAME

P

2 BUC%Qf | i
' I

FRAME ™

MASONRY

C)PEN%NEj

TYP. HEAD & I
JAMBS |
i
il
i
I
i
. OUTSWING i§

TYP. @ SHILL

i. Substitution of equal concrete anchors from a different supplier may hove different edge

distance ond cenfer distonce requirements.

2. Concrete anchor locdtions af the corners may be adjusted fo maintain the min. edge
distance fo mortar joinls. If concrete onchor localions notad as "MAX. ON CENTER” must be
adiusted fo mainiain the min. edge distance fo mortar foints, additional concrete anchors
may be required 1o ensure the "MAX. ON CENTER" dimensions are not exceeded,

3. Concrete anchor

toble:

W /4" 1-1/4" 3
ELCO /& 114 4
iTw <Al -4 2-1/4

FRAME ANCHORING

T

INSWING ]
~ I

SEE DETAIL 2 .
i
|
ASTRAGAL  _|I__1
SHOWN FOR
REFERENCE &
OMLY §5
=0
-l &
O
SEE DETAIL
i

ASTRAGAL STRIKE SAMB

3912

Masonry ZX buck construction

LATCH & DEADRGLT DETANL

1/
®

rzgtion Mo. 8813

i

213.659.2187
Lyndon F. Schmidt, P.E. Ne. 43409

Suthg

Certificate 25 Atk

BUILDING CONSULTANTS, INC.
P.0. Box 230 Yalrice FL. 33585

Bocuments Prepared By

Phene No.:
Florida Beoard of Prefessional Enginesrs

DETAIL |
Inswing configuration

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BUCK & FRAME ANCHORING 2X
BUCK MASONRY CONSTRUCTION

PRODUCT:

BY

DETAIL 14

Cutswing configuration

I/
44

i

e
&l
oy
it

NOI DATE

oirE: 02/ 16/12

SCAE  NT.S,

HINGE DETAIL

e, oy JKE

I B LFS

DRIWING NO.:
FL—~15213.6

sHEET 5 o 8

R:VA - Projects\Project Folders\prod 1501 - 1600\PF 1587\D. RWBC Drawings\2010WL-15213.1-.8.dwg, 5.6

REVISIONS

© 2012 RW, BULDE DONBULTANTS NG,



——— prose— 7

||\ SEEDETAL2
TYP.FIEAD & 1
JAMBS 1
|
[
E}\ ASTRAGAL
| SHOWNFOR
E REFERENCE ONLY
§
E
E
|
: | OUTSWING
| INSWING
SEE DETAIL |
1&1A E
;

e

I

14" MAX,
O CENTER

I ] e PN
T E§ DR
L “
= .| MASONRY 7
= OPENING
-
.j_ - L]
E j FRAME /
1X BUCK \
M
g "Q.
HINGE JAMAE
CONCRETE ANCHOR NOTES:

FRAME ANCHORING

Masonry TX buck construction

1. Substitution of equat concrete anchors from a different supplier may hove different edge

distonce and center distance requirernents,

2. Concrete anchor locations ol the corners may be adjusted fo maintain the min. edge
distance o mortar joinds, If concrete anchor locations noted as "MAX. O CENTER” must be
adiusted fo maintain the min. edge disfance 1o mortar foints, additional concrede anchors
may be required fo ensure the "MAX, ON CENTER" dimensions are not exceeded.

3 Concrete anchor foble:

W 1/4°

-4

2142

3¥!

W 3f16°

1-1/4

2-5/8°

2“?,{ 7

R
™
&
Bl —
Ly
ASTRAGAL STRIKE JAMB

;O )

HINGE DETAN

P

/4

I

LATCH & DEADBOIT DETAIL

DETAN }

Inswing configuration

(0)

Documents Prepared By:

B13.659.9187

L50E 27,2

P.O. Box 230 Vairice Fl. 33585
iyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

Phone MNo.
Florida Beord of Profesgional Enginesrs

Certificate OFf Authorization MNo. 8813

Ry

PLASTPRO INC
FIBERGLASS DOOR

PART OR ASSEMBLY:
FRAME ANCHORING 1X BUCK
MASONRY CONSTRUCTION

PRODUCT:

/1
il
/}!

DETAIL 1
Cuiswing configuration

NOJ DATE

oare: 02/16/12

scal: NS

DG, BY: JK

CHIL By LFE

DREWWNG NO.:
Fl-152135.6

SHEET B oF 8

RivA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawingsi20106FL-15213.1-.8.dwg, 6.6

EVISIONS

K

@ ZL1E RW. BLoinmp DONSULTANTE NG,



TN BANYLTMEMNID STy

M 2LDE

BOPSE OGN D'd WPLLUSS 4 UOPUA] SNOISIAZY
e Loz gL STVLIA TOvHLSY A8 AP0 _ONR o] @)
CLB6 "ON UORDILOUINY 4O SIBDLULRD Sy
2199UIBUT [DUCIZEBLOIY IO PIDOE DRLOIS _ ANEWASSY "0 Jdvd me M . M/w &
LBLE6EOELE TON BUOYd 000 55V 1983414 Ww ) g o ?m
SBECT 14 OOMIDA OFT %08 "U'd \wﬁ@ ONE OddISYTd ol (BlEg ]
DN SINYLINSNGD SNIGHNG : i M P i 3
AE peundesd SyuBUInDOC] AONA0Md 2 W W w &
|
eI I
e zNﬁ.m [— ..w
o
S &3
WOLIOE :
B
o B
(8]
« i
| m
il 3
° . =
| 2 2
et [
- A Sl
b =)=
O L]
€I
o 5 )
=z & 2
& 2 e
5 3
S, B X
T -
A
-k
i
* .
=5
=
% 5) 3
@ Q) 3z 3
| i [= )
o ¥ m o D M e S1E0
43 .
P &l o ke
PIT ol £ S b
5 = e
2 ; = 2
3 2 < £
e %0 3 3
o £ m
o} 5 2
o) @ .. m.
T - Y
£H
2 8
T L.
= (&
= [ AN
—
O E_. =
< O
L
ir
Py
0
L]
o
° I | MMS
RN L
] £l
- o
o N a E<
w2 vy 205
o Fay SR
®

94 BMpg-TETZST-TAOTOZ\SBUMEIG DEMY "T\LBST 4d\009T - TOST f01ch\s10p104 198(014\S108f01d - WAy




RIVA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, 8.6

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL
N_|3/16" X 3-1/2" PFH TW CONCRETE SCREW STEEL
O_|3/16"X 1-1/2" PFH TW CONCRETE SCREW STEEL
P_[3/16"X 3-1/4" PFH TW CONCRETE SCREW STEEL
| | MASONRY - 3,192 PS| MIN. CONCRETE CONFORMING TO ACI CONCREE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C50
2 | IXBUCK G >=0.55 WOOD
3 | 2XBUCK SG >=0.55 WOOD
4_| 1/4 MAX. SHIM SPACE :
5_|'1/4" X 2-3/4 PFH ELCO OR [TW CONCRETE SCREW STEEL
6| #10x2-1/2" PFH WOOD SCREW STEEL
7 | 1/4"x 214 PFH TW CONCRETE SCREW STEEL
B | #9 x 3/4" PFH WOOD SCREW STEEL
9 | DOOR SKIN [MIN. 0.075" THICK] FIBERGLASS
10_| INSWING VINYL DOOR BOTIOM SWEEP BY ENDURA VINVL
10A | VINYL DOOR BOTTOM SWEEP #3428 BY HOLM IND. VINYL
11_| REINFORCEMENT WOOD FOR LOCK WOOD
12| FINGER JOINTED PINE JAMB WOOD
13 | #9 x 2-174" PR WOOD SCREW STEEL
14 | BOTIOM RAIL CELLULAR PVC
15 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
15A | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
14 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
18A | COMPRESSICN WEATHER STRIP QLON 650 BY SCHLEGEL FOAM
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18 | KWIKSET DEADBOLI - SIGNATURE SERIES {750] STEEL
20| POLYURETHANE FOAM BY NANYA POLYURETHANE
21 |4 x4 BUT HINGE STEEL
22 | #8x 2" PFH WOOD SCREW STEEL
73 | POLY FIBER JAMB COMF. / VINYL
24 | FLUSH BOLT STRIKE PLATE STEEL
25 | TOP RAIL CELLULAR PVC
26 | DEADBOLT STRIKE PLATE STEEL
27 | SIRIKE PLATE STEEL
28| QUTSWING BUMP THRESHOLD ALUM. / WOOD
29 | 1/4"x 2-3]4° PFH TW CONCRETE SCREW STEEL
30 | 174 x 3-1/4" PFH TW CONCRETE SCREW STEEL
31 | #9x 1" PFH WOOD SCREW STEEL
32 | 1/4"X 3-3/4 PFHTW CONCRETE SCREW STEEL
34 | ASTRAGAL BY ENDURA ALUM.
34A | BOLT RETAINER PLASTIC
348 | SLIDE BOLT ROD STEEL
35 | HINGE & LATCH STILE CELLULAR PVC
36 | HINGE & LATCH STILE REINFORCEMENT LVL
50_| DOOR PANEL - SEE DOGR PANEL DETAIL SHEET FOR CONSIRUCTION DETAILS :

l-w— 2507

1.25"

-

NG,

BUILDING CONSULTANTS,
P.O. Box 230 Valrice FL. 33585
Phone No.: 8135.659.9197
Floride Board of Frofessional Engineers
Certificate OF Authorizotion Mo. 9813
ﬁ{?—- % &y, 3 a—;
Lyndon F. Schmidt, P.E. No, 43409

Ry

Dosuments Preporsd By:

- 456" e 4,58 &
{ N
£
q !
B ? %
28 QUTSWING BUMP THRESHOLD
| 456 1 = & 456" ~
l 4 . e T e %
] SRTINT s Py
— 2ay ]
154 ADJUSTABLE INSWING S 23 POLY FIBER JAMS

567

mz.;smm INSWING SHL

PLASTPRG INC.
LIBERGLASS DOOR

PART OR ASSEMBLY:
BILL. OF MATERIAL &

FRODUCT:

COMPONENTS

REVISIONS

=
=
=
o
=
2

paTE: 02 /16/1

SCAE  MT.S,

O, BY: LES

DRARING NO.:
FL—15213.6

shEEr 8 oF 8

© ge1 2 B.W. BLILOING DOMNMBULTANTS NG,



